
SAP ABAP table /DSD/VC_VL_TREE {Tree Display: Visit List}

_DSD_VC_VL_TREE

MANDT [CLNT (3)]

VPID [CHAR (10)]

VPTYP [CHAR (3)]

TRUCK [CHAR (18)]

TRAIL [CHAR (18)]

STIMEZONE [CHAR (6)]

SPOINT [CHAR (10)]

EPOINT [CHAR (10)]

DRIVER1 [CHAR (10)]

DRIVER2 [CHAR (10)]

ROUTE [CHAR (6)]

AUTH [CHAR (10)]

_DSD_VC_AUTH

MANDT [CLNT (3)]

AUTH [CHAR (10)]

 /DSD/VC_VL_TREE-AUTH = /DSD/VC_AUTH-AUTH 
0..N

1

_DSD_VC_VPH

MANDT [CLNT (3)]

VPID [CHAR (10)]

 /DSD/VC_VL_TREE-VPID = /DSD/VC_VPH-VPID 
0..N

1

_DSD_VC_VPTYPE

MANDT [CLNT (3)]

VPTYP [CHAR (3)]

 /DSD/VC_VL_TREE-VPTYP = /DSD/VC_VPTYPE-VPTYP 
0..N

1 EQUI

MANDT [CLNT (3)]

EQUNR [CHAR (18)]

 /DSD/VC_VL_TREE-TRAIL = EQUI-EQUNR 

0..N1  /DSD/VC_VL_TREE-TRUCK = EQUI-EQUNR 
0..N

1

KNA1

MANDT [CLNT (3)]

KUNNR [CHAR (10)]

 /DSD/VC_VL_TREE-DRIVER1 = KNA1-KUNNR 

0..N

1
 /DSD/VC_VL_TREE-DRIVER2 = KNA1-KUNNR 

0..N

1

 /DSD/VC_VL_TREE-EPOINT = KNA1-KUNNR 
0..N

1

 /DSD/VC_VL_TREE-SPOINT = KNA1-KUNNR 0..N1

T000

MANDT [CLNT (3)]
 /DSD/VC_VL_TREE-MANDT = T000-MANDT 

0..N

1

TTZZ

CLIENT [CLNT (3)]

TZONE [CHAR (6)]

 /DSD/VC_VL_TREE-STIMEZONE = TTZZ-TZONE 

0..N

1

TVRO

MANDT [CLNT (3)]

ROUTE [CHAR (6)]

 /DSD/VC_VL_TREE-ROUTE = TVRO-ROUTE 

0..N

1


